Report ID: CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

12/21/2016

Engineer: 2503

Firm Name: NITSCH ENGINEERING INC.

Contract J62CN01

Rockport Layover Facility Power Upgrade, Rockport, MA

Bidder: 2391

Firm Name:

Mccourt Construction Co. Inc

				E	ngineer	E	Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$135.00	\$13,500.00	(\$65.00)	(\$6,500.00)
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$135.00	\$3,375.00	(\$215.00)	(\$5,375.00)
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$3,905,500.00	\$3,905,500.00	(\$133,802.19)	(\$133,802.19)
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	ate Co	ntract Base	Bid:	\$4,992,593.47		\$4,846,916.28		(\$145,677.19)
	Contract Total - Ba	ase Bid	l and Alterna	ates:	\$4,992,593.47		\$4,846,916.28		(\$145,677.19)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

12/21/2016

2269

Engineer: 2503

Contract J62CN01

Rockport Layover Facility Power Upgrade, Rockport, MA

Bidder: Firm Name:

Lm Heavy Civil Construction, Llc

Firm Name:	NITSCH ENGINEERING INC.

				E	ngineer		Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$0.01	\$1.00	(\$199.99)	(\$19,999.00)
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$0.01	\$0.25	(\$349.99)	(\$8,749.75)
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$4,042,457.47	\$4,042,457.47	\$3,155.28	\$3,155.28
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	ate Co	ntract Base	Bid:	\$4,992,593.47		\$4,967,000.00 ———		(\$25,593.47)
	Contract Total - Ba	ase Bid	and Alterna	ates:	\$4,992,593.47		\$4,967,000.00		(\$25,593.47)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

12/21/2016

Contract J62CN01

Engineer: 2503

Rockport Layover Facility Power Upgrade, Rockport, MA

Bidder: 2789

Firm Name: NITSCH ENGINEERING INC.

S & R CORP., FNA STEVEN & ROGER Firm Name:

				Eı	ngineer	E	Bidder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$175.00	\$17,500.00	(\$25.00)	(\$2,500.00)
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$2,500.00	\$62,500.00	\$2,150.00	\$53,750.00
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$4,156,000.00	\$4,156,000.00	\$116,697.81	\$116,697.81
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	nate Co	ntract Base	Bid:	\$4,992,593.47		\$5,160,541.28		\$167,947.81
	Contract Total - Ba	ase Bid	I and Alterna	ates:	\$4,992,593.47		\$5,160,541.28		\$167,947.81

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

Bidder:

12/21/2016

Engineer: 2503

Contract J62CN01

Rockport Layover Facility Power Upgrade, Rockport, MA

3148

Firm Name: NITSCH ENGINEERING INC.

Wes Construction Corp. Firm Name:

				E	ngineer		Bidder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$0.00	\$0.00
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$300.00	\$7,500.00	(\$50.00)	(\$1,250.00)
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$4,680,000.00	\$4,680,000.00	\$640,697.81	\$640,697.81
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	ate Co	ntract Base	Bid:	\$4,992,593.47		\$5,632,041.28 ——		\$639,447.81
	Contract Total - Ba	ase Bid	I and Alterna	ites:	\$4,992,593.47		\$5,632,041.28		\$639,447.81

CMS-BM-003

Firm Name: NITSCH ENGINEERING INC.

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Contract J62CN01

Bid Date:

12/21/2016

1160

Engineer: 2503

Rockport Layover Facility Power Upgrade, Rockport, MA

Bidder: Firm Name:

Barletta Heavy Division, Inc.

			_	Eı	ngineer	E	Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$275.00	\$27,500.00	\$75.00	\$7,500.00
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$1.00	\$25.00	(\$349.00)	(\$8,725.00)
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$4,779,223.72	\$4,779,223.72	\$739,921.53	\$739,921.53
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	ate Co	ntract Base	Bid:	\$4,992,593.47		\$5,731,290.00		\$738,696.53
	Contract Total - Ba	ase Bid	l and Alterna	ates:	\$4,992,593.47		\$5,731,290.00		\$738,696.53

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

12/21/2016

Engineer: 2503

Contract J62CN01

Bidder: 4060

Firm Name: NITSCH ENGINEERING INC.

Rockport Layover Facility Power Upgrade, Rockport, MA

Mackay Construction Services, Inc. Firm Name:

				Eı	ngineer	E	Bidder	Vai	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$175.00	\$17,500.00	(\$25.00)	(\$2,500.00)
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$1.00	\$25.00	(\$349.00)	(\$8,725.00)
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$4,834,599.72	\$4,834,599.72	\$795,297.53	\$795,297.53
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	ate Co	ntract Base	Bid:	\$4,992,593.47		\$5,776,666.00		\$784,072.53
	Contract Total - Ba	ase Bid	l and Alterna	tes:	\$4,992,593.47		\$5,776,666.00		\$784,072.53

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

12/21/2016

Contract J62CN01

Engineer: 2503 Firm Name: NITSCH ENGINEERING INC.

Rockport Layover Facility Power Upgrade, Rockport, MA

Bidder:

Sps New England, Inc. Firm Name:

2880

				Er	ngineer		Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$0.00	\$0.00
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$500.00	\$12,500.00	\$150.00	\$3,750.00
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$5,243,600.00	\$5,243,600.00	\$1,204,297.81	\$1,204,297.81
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	ate Co	ntract Base	Bid:	\$4,992,593.47		\$6,200,641.28		\$1,208,047.81
	Contract Total - Ba	ase Bid	I and Alterna	tes:	\$4,992,593.47		\$6,200,641.28		\$1,208,047.81

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

Bidder:

12/21/2016

Engineer: 2503

Rockport Layover Facility Power Upgrade, Rockport, MA

Contract J62CN01

Firm Name: NITSCH ENGINEERING INC.

1203 Firm Name: BOND BROS. INC.

				Eı	ngineer	E	Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$0.00	\$0.00
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$200.00	\$5,000.00	(\$150.00)	(\$3,750.00)
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$5,420,000.00	\$5,420,000.00	\$1,380,697.81	\$1,380,697.81
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	nate Co	ntract Base	Bid:	\$4,992,593.47		\$6,369,541.28 —		\$1,376,947.81
	Contract Total - Ba	ase Bio	l and Alterna	ites:	\$4,992,593.47		\$6,369,541.28		\$1,376,947.81

CMS-BM-003

Firm Name: NITSCH ENGINEERING INC.

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date:

12/21/2016

Engineer: 2503

Contract J62CN01

Rockport Layover Facility Power Upgrade, Rockport, MA

Bidder: 2687

R. ZOPPO CO. INC. Firm Name:

				E	ngineer		Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0130.426	RAILROAD FLAGMEN	AN	1	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$0.00	\$0.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
0160.094	LICENSED SITE PROFESSIONAL SERVICES	AN	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF ALLOWANCE QUALIFYING SOILS	AN	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$0.00	\$0.00
0222.104	ROCK EXCAVATION - CLASS B	CY	100	\$200.00	\$20,000.00	\$1.00	\$100.00	(\$199.00)	(\$19,900.00)
0222.121	ROCK EXCAVATION ENCOUNTERED DURING JACKING	CY	25	\$350.00	\$8,750.00	\$1.00	\$25.00	(\$349.00)	(\$8,725.00)
1625.280	UNIT SUBSTATION	LS	1	\$4,039,302.19	\$4,039,302.19	\$6,023,000.00	\$6,023,000.00	\$1,983,697.81	\$1,983,697.81
6500.000	RISK ALLOWANCE	RA	1	\$654,541.28	\$654,541.28	\$654,541.28	\$654,541.28	\$0.00	\$0.00
	Total Estim	ate Co	ntract Base	Bid:	\$4,992,593.47		\$6,947,666.28 ——		\$1,955,072.81
	Contract Total - Ba	ase Bid	l and Alterna	ites:	\$4,992,593.47		\$6,947,666.28		\$1,955,072.81

Date/Time: **Massachusetts Bay Transportation Authority**

Report ID:

Capital Management System CMS-BM-003

> **Comparison of Bids** Bid Date:

12/21/2016

Contract J62CN01

Engineer: 2503 Bidder: 2687 Rockport Layover Facility Power Upgrade, Rockport, MA

Firm Name: NITSCH ENGINEERING INC. Firm Name: R. ZOPPO CO. INC.

-	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$6,947,666.28	(\$1,955,072.81)
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$6,947,666.28	(\$1,955,072.81)

Report ID:

Capital Management System CMS-BM-003

> **Comparison of Bids** Bid Date: 12/21/2016

Contract J62CN01

Engineer: 2503 Bidder: 1203 Rockport Layover Facility Power Upgrade, Rockport, MA

Firm Name: NITSCH ENGINEERING INC. Firm Name: BOND BROS. INC.

-	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$6,369,541.28	(\$1,376,947.81)
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$6,369,541.28	(\$1,376,947.81)

Report ID:

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids Bid Date: 12/21/2016

Contract J62CN01

Engineer: 2503 Bidder: 2880

Rockport Layover Facility Power Upgrade, Rockport, MA Sps New England, Inc. Firm Name: NITSCH ENGINEERING INC. Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$6,200,641.28	(\$1,208,047.81)
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$6,200,641.28	(\$1,208,047.81)

CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/21/2016

Engineer: 2503

Report ID:

Contract J62CN01

Rockport Layover Facility Power Upgrade, Rockport, MA

Bidder: 4060

Firm Name: NITSCH ENGINEERING INC.

Firm Name:

Mackay Construction Services, Inc.

	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$5,776,666.00	(\$784,072.53)
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$5,776,666.00	(\$784,072.53)

Report ID:

Capital Management System CMS-BM-003

> **Comparison of Bids** Bid Date: 12/21/2016

Contract J62CN01

Engineer: 2503 Bidder: 1160 Rockport Layover Facility Power Upgrade, Rockport, MA

Barletta Heavy Division, Inc. Firm Name: NITSCH ENGINEERING INC. Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$5,731,290.00	(\$738,696.53)
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$5,731,290.00	(\$738,696.53)

Report ID:

CMS-BM-003

Capital Management System

Comparison of Bids Bid Date: 12/21/2016

Contract J62CN01

Engineer: 2503 Bidder: 3148 Rockport Layover Facility Power Upgrade, Rockport, MA

Wes Construction Corp. Firm Name: NITSCH ENGINEERING INC. Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$5,632,041.28	(\$639,447.81)
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$5,632,041.28	(\$639,447.81)

Report ID:

CMS-BM-003

Capital Management System

Comparison of Bids Bid Date: 12/21/2016

Contract J62CN01

Engineer: 2503 Bidder: 2789

Rockport Layover Facility Power Upgrade, Rockport, MA S & R CORP., FNA STEVEN & ROGER Firm Name: NITSCH ENGINEERING INC. Firm Name:

	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$5,160,541.28	(\$167,947.81)
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$5,160,541.28	(\$167,947.81)

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/21/2016

Engineer: 2503

Report ID:

Bidder:

2269

Firm Name: NITSCH ENGINEERING INC.

CMS-BM-003

Contract J62CN01 Rockport Layover Facility Power Upgrade, Rockport, MA

Firm Name:

Lm Heavy Civil Construction, Llc

	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$4,967,000.00	\$25,593.47
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$4,967,000.00	\$25,593.47

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 12/21/2016

Contract J62CN01

Engineer: 2503

Report ID:

CMS-BM-003

Bidder:

2391

Firm Name: NITSCH ENGINEERING INC.

Rockport Layover Facility Power Upgrade, Rockport, MA

Firm Name:

Mccourt Construction Co. Inc

	Engineer	Bidder	Variance
Total Type Basic =	\$4,992,593.47	\$4,846,916.28	\$145,677.19
Contract Total - Base Bid and Alternates:	\$4,992,593.47	\$4,846,916.28	\$145,677.19